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* append

f append(self, item)
newNode-Node(1tem)
current-sel{.head
1f current==None

el f.head-newNode
return
while current.getNext() ' =None
current-current.getNext()
current.setNext (newNode)




def 1index(self,

current
count
while current!=None
1f current.getData()
return count
count
current-current.getNext()
raise ValueError("%s not in list"”




def pop(self, index=None)
index=(self.size()-1) if index==None else
current-self.head
previous-None
counter

while counter<index and current!=None

previous-current
current-current.getNext()
counter
1f current==None
raise IndextError(”Index out of range™)
elif previous--None
self.head-current.getNext()
else
previous.setNext(current.getNext())
return current.getData()
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* insert

S

- insert(self, position
newItem-Node(item)
current-sel f.head
previous-None
count
while count<posi
previous-current
current-current.getNext()
count

1f previous--None
newItem.setNext(current)
self.head-newItem

and current!=None

else

previous.setNext(newItem)
newItem.setNext(current)




def str (self)
1f self.head-=None
return "[]"
s="["
current-self.head
while current!=None
1f 1sinstance(current.getData(), str)
s+="""+current.getData()+"""+", °
else
s+=str(current.getbData())+", "
current-current.getNext()
s=s[@:1len(s)-2]+"]"

return s




__getslice_ (self, i, j)
newList-UnorderedList()
if j<=1

return newList

count
current-self.head
while current!=None

1f 1<=count
newList.append(current.getData())

elif count>=j
break

else
pass

current-current.getNext()

count

return newList

def Llen (self)

return self.size()




def getitem (self, key
1f isinstance(key, int)
size-self.size()
key-keyisize 1if key
1f key<0 or key>-size
raise IndexError(“"out of range")
count
current-self.head
while count<key
current-current.getNext()
count
return current.getData()
elif isinstance(key, slice)
(begin, end, step)-key.indices(self.size())
newList-UnorderedList()
count
current-self.head
while current!=None
if begin<-count<end and (count begin) step
newList.append(current.getData())
elif count: -end
break
else
pass
current-current.getNext()
count
return newList
else

pass




class OrderedList(UnorderedList)

def init (self)
UnorderedList. init (self)




def add(self, item)
newNode-Node(1tem)
current-self.head
previous-None
while current!=None and current.getData()
previous-current

current-current.getNext()
1f previous-==None
self.head-newNode
newNode.setNext (current)
else
previous.setNext(newNode)
newNode. setNext (current)




def remove(self, item)

current-self.head

previous-None

while current! -None and current.getData()<item
previous-current
current-current.getNext()

1f current ' -None and current.getData()
1f previous--None

self.head-current.getNext()

previous.setNext(current.getNext())

raise ValuekError(“value not in list™)




def search(self, item)
current-sel f.head
while current!=None and current.getData()<iten
current-current.getNext()

1f current!-=None and current.getData()
return True
else

return False




class Stack()
def __init_(self)
self.list-UnorderedList()

- isEmpty(self)
return self.list.isEmpty()

- push(self, item)
self.1list.add(item)

“ pop(self)
self.1list.pop(9)

- peek(self)

return self.list[0:1].pop()

- size(self)
return self.list.size()




class Queue()
def 1init (self)
self.list-UnorderedList()

f.1sEmpty()

enqupue( -, item)
.11st. add('fe¢)

- dequeue(self)
return self.list.pop()

- size(self
return self.list.size()
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elLf.next=None
self.prev=None




class DUnorderedlList()
def 1init (self)
self.head=None
self.tall=None

def add(self, item)
newNode-DNode(item)
1f self.head!=None
self.head.setPrev(newNode)
newNode.setNext(self.head)
self.head-newNode

1f self.tail==None
self.tail -newNode




def append(self, item)

newNode-DNode(1tem)

1f self.tail!=None
self.tail.setNext(newNode)
newNode.setPrev(self.tail)

self.tail -newNode

if self.head==None
self.head-newNode




def remove(self, item)
current-self.head
while current!-None and current.getData()
current-current.getNext()
1f current==None
raise Valuekrror("value not in list")
else
prevc-current.getPrev()
nextc-current.getNext()
1f prevc!=None
prevc.setNext(nextc)
ol se
self.head-nextc
1f nextc!=None
nextc.setPrev(prevc)
else

self.tail-prevc



- insert(self, posit tem)
current-self.head
count-o
while count<position and current!=None
current-current.getNext()
count
1f current==None
self.append(item)
else
newItem-DNode(1tem)
prev-current.getPrev()
newItem.setPrev(prev)
newItem.setNext(current)
current.setPrev(newItem)
1f prev==None
self.head-newItem

else

prev.setNext(newItem)




def fact(n)
1Lf n==0
return
return n*fact(n-1)

f revstring(s)

return
else

return s[-1]+revstring(s[o:-1])

f palcheck(s)
1f len(s)
return True
elif s[0]!=s[-1]
return False

return palcheck(s[1:-1])




